7

000 4.00

1 L O L L B 4.0[ 10 L L A
FH S b t 1 b ,
IR XINPISININS, pn o, /X I NSO AR [ 1 L i
sk ‘ - 35C ] | |
X \30&> SO : AR ﬁ@@’ [ ] - B
: ’ %OQWQ?§%J§% . 300 B 87 |
or ‘ b [ ]
= ] [ 1 i ]
g ] 251 ] * 1
« 5 8 [ 1 1 6r b
= 1 20F h r ]
> ] [ ] L 1
10F f [ ] L ]
1 1.5k B
J [ ] 4r b
s 1 ok ] | ]
0| I P R R S PR RS A osFPu v v v v e 2 L
00 02 04 06 08 10 0.5 1.0 15 2.0 25 3.0 5 10 15 20 25
phose ¢y H—K V=K
15.0 ‘ ‘ ‘ ‘ ‘ ‘
g
=
o
°
o
~
£
=
2
G O
o -
° C
o —20— -
8 C 1
o — —
—40C . . . . . . —J
1.0C ‘ ‘ ‘ ‘ ‘ ‘ T
o = 3
S 08— —]
[ .
T = 3
c 06— -
s = 3
04— =
[0 — —
s - 3
£ 02— —
i 3
0.0 ‘ ‘ . - -
o 100 200 300 400 500 600
time [yr]
Y e 510"
-85F R 50.46 ax1o'
—8,4; CHE DD Teﬁ 2600 K
— E o 13
g s : 310 g L 4.00 L
£ -83F s oo o
< 2x10'3 Mass 2.00 Mg
782;— =) a
O o Ig(C—0) 8.80
-81F
E Ee
C/0 2.38
-80E__ .
-7 T T T T T T T T T AU 2 km/s
7op 7056 P
-7.0 . o o0,0.
Fos D 0 f 2.0
-6.9F o o . >
_ s s ° £ class pp
g -68F °i. ® =
E E 8 a o Z
Z -67F o °
- E a a [
E ) > .
—66F S ad 8 No wind
E ug o -
-65F o
] S S S — 3 Period  525.d = 1.437 yr
o ] Radius  504. Rg
[ ] log g —0.66
[ m &b & ]
o5l e ot ] g o004 MMy 0.407
i BN ] g
= Lol 1§ ooos |
g _,oL & o 1 6 Colour mean / min / max / range
S eVl o o 1 3 B-V) 2.27 221 245 0.24
> i s ¢ % 1 g o002 V- 2.89 2.77 321 0.44
[ o R 1 2 V—K 6.07 585 6.78 0.93
1.5 o b 8 0.001 J—H 0.87 0.83 0.97 0.13
[ ] ' J—K 1.53 1.48 1.69 0.21
r 1 H-K) 0.66 0.63 0.72 0.09
-10l . . . . ] 0.000
550 553 618 621 580
time [yr] time [yr]



60
Q

€ 40
=3
2
S
o
°

> 20
0
O
o

0

-20

0

-5
o
€
O
N
=
2
2

S —10
o
o
°

-15

3.0

2.5

condensation degree
- N
» o

o

0.5

0.0

5000

4000

]

=
3000

Toos

2000

1000

Note: Time increases downwards.

.70

R T O HE S R P L

13.45 13.50 13.55 13.60 13.65 13.70
log r [em]

L1 L T —. 1 L
13.45 13.50 13.55 13.60 13.65 13.70
log r [em]

E R LN —— 7
E Q\\\‘l\\\ E
= \ ]
E. 1 PR S O B R N L
13.45 13.50 13.55 13.60 13.65

log r [em]

Scales OK for last curve (bottom

gas velocity [km/s]

log density [g/cm?]

Tges [K]

condensation degree
(9]

60

40

20

-20

|
o

3.0

2.5

N
o

o

0.5

0.0

5000

4000

3000

2000

1000

black)

L | L L L L | L L | L L L L | L L L L | L L L L | L
13.45 13.50 13.55 13.60 13.65 13.70
log r [em]

L | L L L L | L L | L L L L | L L L L | L L L L | L
13.45 13.50 13.55 13.60 13.65 13.70
log r [em]

I B T . . . .1 ]
13.45 13.50 13.55 13.60 13.65 13.70
log r [em]

A R N S S S RS SR R
13.45 13.50 13.55 13.60 13.65 13.70
log r [em]



